THEERHERICE S EETREREITRHE
KERERVLEOBFERRICET HBFHRONR (F/ 30 £ 7 ARE)

tETREMBEASER

THEFEEELEE 1 5 XFCHOAEICETE, HEBEITHHEICEI(RENE
BOKREARLET,

DS 1 A=Y ORI S Eh 55
H B Rk 2 9 4R
H PS5 IR R A1 8 5 e R B 8. 6 ¢

QEFEAL-BRICHD I LXHBEDES
gk 3 0 4R

et Tt
% i

i

&

HEWE | T A | 7T A | 14 A | 50.0%
PRA T - — - -
B B - — - -
B | 6 A OAN | 6A| 0.0%
PEHERE | 13 A | 16 A | 29 A | 55.2%

YN 26 A | 23 A | 49 A | 46.9%

QEBENBLNDER (FH2 9FH)
Tk B %% BN 4 g b

W
| 7 5 | x | &

i

% At

i

BTk 262 A\ 155 A 417 N 11 A 9 A 20 A 4.2% 5. 8% 4. 8%

1RH T - 62 A 62 A - 7 A 7 A — 11.3% 11.3%
TR 17 A 34 A 51 A 1A 4 A 5 A 5. 9% 11.8% 9. 8%

TH B 138 A 2N 140 A 3N 0A 3N 2.2% 0. 0% 2.1%

=3 137 A | 369 A 506 A 7 A 13 A 20 A 5. 1% 3.5% 4. 0%

XN 554 A 622 N 1,176 A 22 N 33 A 55 A 4.0% 5.3% 4. 7%

XEHE  BEY (FELVOBEREFEROBERERL T2 TE -8 ITdY HHE RE) H0JE



@EE—ANLE-YDEA L OBRBNBHER (Fk2 9FE)
T fa PER1 4 A 54 6 H 7H 8 A 9 A
2! 19. 9 WefE] | 12. 3 Mef | 12.5 FERE | 18. 4 WER | 11. 8 W[ | 12. 7 Mef
HH
be 15. 1 Wefd) | 8.2 Mefd] | 10.4 FERE | 11.3 MR | 7.3 WER4 | 8. 1 Mrf
% _ _ _ _ _ _
R E
pee 3.6 M | 3.6 M | 14.6 R | 6.8 M | 4.8 W[ | 3.5 MK
2! 21.0 MefE] | 5.5 HER | 13.3 MR | 10. 8 [ | 8.0 B[ | 5.2 MR
T ER
= Q.8 | 2.0 M | 3.3 W | 4.6 MR | 3.5 MR | 2.5 KRR
B 8.6 MR | 18. 1 B[ | 8.3 BRI | 9.7 BERD | 9.4 B | 10.0 R
TH Bk
= 22.0 IRFRT | 16.0 FERT | 7.0 BERY | 1.0 MRS | 6. 0 IRRRY —
2! 9.9 WefE] | 15. 8 Mef] | 10.5 FER | 9.9 MER | 10. 1 MR | 9. 4 e
%
b 2.0 W[ | 9.1 MeRI | 1.8FERD | 2.0 MER | 1.7 MR | 1.7 MR
Tk e il 10 A 11 A 12 A 1A 2 A 3 A H
2! 14. 2 BER | 13, 7 BER | 11,7 BERT | 14,1 BERD | 14. 9 BERY | 13. 0 BERY | 14. 1 BERY
HE
= 13.7WERG | 8. OMGRY | 8. 2WERG | 7.7 WERY | 8.5 MERT | 11.0 MERT | 10. 6 HERY
% — — — — — — —
PR B
b 8.6 M5 | 4. 0MWFRT | 2.8 WERY | 3.6 MERH | 4.2 W5RH | 7.9 WERH | 6.3 HRRY
2! 12. 3 B5f | 10. 3 WERT | 17.3 HERT | 17.6 WERY | 15. 3 RS9 | 7.0 IERS | 10. 9 HRRY
R B
o = 12. 0 BEfH — | 2.0 K[ — | L.5WER | 9.7 MR | 7.7 MRRY
2! 8.0MEf | 9.6 MFRT | 6.1 MERT | 7.4 | 8. 405 | 6.5 WERT | 9.2 KRR
TH Bl
LS - — — — - — | 10. 4 BERS
2! 10. 9 BER | 10. 4 BERT | 13,6 BERT | 12.9 BERD | 10.0 BERY | 10. 3 BERY | 11,1 BERY
B
= 2. ABER | 2. TBERT | 6.6 BERT | 6.1 BERD | 1.8 EERY | 1.5 BERY | 3.2 BERY




OEFEMMMIZHIBEICEDSILEBADES

gk 2 O ARpEE
T fa } M
%o k|

BE

BHERE | 39 A 4N | 43N 9. 3%
MR | TA ] oA | TA 0%
ERERE | 148 | 24| 38 A | 63.2%
ot 60 A | 28 A | 88 A | 31.8%

CERBEREICHIBAICHHIXMEBADEE (T2 9FHE)

RE - 2% - RRWK
i et =i =i =i
% % i % % i % % at
& & &
EHERE | s6 M| 36 A | 92 A | 39.1%| 490 | 17 A | 66 A | 25.8% ] B2 A | 12 A | 64 A | 18.8%
1R Bk oA | 17N | 1TA 100% 0 A 5 A 5 A 100% OAN | 17N | 1TA 100%
R | 194 oA | 19A 0% | 10A oA | 10A 0% | 13 A 0N | I3A 0%
ERRERE | 20 0 | 57 A | 77T A | 74.0% 3 A 1A 4N 25.0% | 13 A | 31 A | 43 A | 70.5%
XN 95 A | 110 A [ 205 A | 83.7%| 62 A | 23 A | 85 A | 27.1% | 78 A | 60 A | 138 A | 43.5%
B3 HRE &
iz =4 =4 =4
% 8 & % 8 7 % 8 7
& & &
=R | 26 A 3A | 29 A | 10.3% 7 A oA 7 A 0% 6 A 1A 7N 14.3%
RE - - - - - - - - - - - -
TEBARE | 5K | OA| BA o] tA] OA| 1A | tA] OA| 1A 0%
ERERE | 11 A | 190 | 30 A | 63.3% 7N 6N | 13N | 46.2% ] 28 A 2N | 30 A 6. 7%
RN 201 22N 64 A | 3449 15N 6 A | 20 A | 28.6% ] 35 A SA| 38A| T.9%




OBXANDERARDFERVEYRGHAM (FH 2 9FE)

) BRIRE | BRIKE | BRAKE | FHIE
el ek el
RREH | BUSEE igE HARS

HE (N 1 A 14. 3% 318
PRETR — — - —
HHEHER N 0 A 0% oH

Bk
TH BT 13 A 0N 0% 0H
% 8 A 0 A 0% 0B
7t 28 A N 3. 6% 318
HE 6 A 6 A 100% 440 B
PRE R 0 A 0 A 0% 08
R B 0 A 0 A 0% 08

ok
T BT 1A 1 A 100% 329 A
=3 18 A 18 A 100% 323 B
7t 25 A 25 N 100% 352 A
SN 53 A 26 A\ 49.1% 339 A

C@EMtHAEDRBREHERBRRUVERSMO-HDOKRBREERUVEYIMFAR

(FERL2 9%)
R {RE H E KR BRSO -6 DKER

. Bt

i | BsE | AFFER | FER | BuUSE | AFtR | FigE
GEE Jip R mEE

b SHE | #E% P SHE | #E%
HE (N 5| 71.4% TH] 1.4H PN 14% 1 H 18
PRE R - - - - - - - — —
KB 0 A 0 A 0% 0H 08 0 A 0% 0H 08
TH B 13 A 10 A 76. 9% 1981 1.98 0 A 0% 0 H 08
R 8 A 5 | 62.5% 9F | 1.8H 0 A 0% 0H 08
ESXIN 28 A 20 | T71.4% 354 1.8H PN 4% 1 H 18




